Cymbals

Tetris (Kallnka) arr. Jim Stanley
Not Too Fast 4 =150
SR N W Y VAN YUY WO A VO Y N WO W RN VO W A

mf

DN N OO YA YU U O S VUM YO U O UM YO YO O Y

2

AN U O SO YO SO O Y YUY O A A O Y Y O
S

G YO YO0 YN YUY VAN SR A SO YUY YA VAN SO SR O YO 3

SR YO N YO YU N SO YO N O O 0 00 v e O

T N O Y YR O YO YO YOOI YUY VAN VRO SO VRS SR Ol Y

mf
SN O O N UM N O O UM YO N PO SO YO YO YO Y

4=0= 7‘b7‘b7‘b7‘bl7‘b7‘b7‘b7‘b|7‘b7\b7\b7~b}7\b7\bjg“ 2
S




Cymbals

Bt YO YO VAN YUY VAN VA O SO YUY VAN VAN YOS SR O YO 0

5=0= 7ﬁ7ﬁ7ﬁ7ﬁ|7ﬁ7ﬁ7ﬁ7ﬁ|7ﬁ7ﬁ7ﬁ7ﬁl>'>ﬂﬁ}7g —

5656 Slower, in 2 J=50 accel. accel.

D e e e SN SN S S
70 accel.

SR SV SV A SV I SV RIS SV S ANTE S0 B SN S S I S AUE S A S

accel.
82

SR S A TN T S A SN RS S A SN T SN N S NS S0 IS S

S;gJ;J,ngJ,;J;J,ngJ,J;J;
ff  Hil




